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Name : 1D#:

Section:

Q1) The graph of p(x)=x%(x+2)%—(x+2)? is below the x —axis on the interval:

a)(-2,1) b)(~1,1)

¢) (~2,-1) d)(01) e (-20)

Q2) The Polynomial p(x)=x°—4x—4 has a zero between:

a)—land 0 b)Oand1 c)3and 4 d)-3and-2 e)2and 3

Q3) The sum of all non-integer rational zeros of the polynomial

a)0 b)1 0)-1 )% oY

p(X)=4x* +4x® +23x* —x -6

Q5) If —1 isazero of multiplicity 2 of p(x) =x>+ Ax+B then A+B=

a)0 b)2 c)4 d)-5 e)—2

Q6) If (x—i) isa factor of P(x) = x* —2x® + 2x? —2x +1, then the NUMBER of x —intercepts of p(x) is

a) 0 b)2 c) 3 d) 1 e) 4

Q7) The largest negative integer that is a lower bound for the real zeros of f(x) = x> +7x* —x+3 is:

a)-1 b) -5 c)-4 d) -2 e) — 3




